
= β + ε ×
∼ ( β,σ2)

β̂ = ( )−1

σ̂2 = ( − β̂) ( − β̂)/( − )

β̂ ˆ (β̂) = σ̂2( )−1

0 : β = 0 : β = 0

ʴ � ʳŞ �����ſɨɥɥƀ
ʴ � ʳŞ �����ſɨɥɥƀ
ʴ �������ſ��ſ�Ɍ�ƀƀ

����ś
��ſ������� ʰ � Ɍ �ƀ

���������ś
��� ɨ� ������ ɪ� ���

ŞɩŜɨɬɮɬɰ ŞɥŜɭɰɭɨɪ ɥŜɥɯɬɭɬ ɥŜɮɥɥɨɫ ɩŜɭɩɫɯɯ

������������ś
�������� ���Ŝ ����� � ����� ��ſʴŶ�Ŷƀ

ſ���������ƀ ɥŜɥɩɮɩɩ ɥŜɨɥɬɫɨ ɥŜɩɬɯ ɥŜɮɰɮ
� ŞɥŜɨɯɪɭɰ ɥŜɨɥɬɬɰ ŞɨŜɮɫɥ ɥŜɥɯɬ Ŝ
ŞŞŞ
������Ŝ �����ś ŜŜŜ

�������� �������� �����ś ɨŜɥɬ �� ɰɯ ������� �� �������
�������� �Ş�������ś ɥŜɥɩɰɰɭř �������� �Ş�������ś ɥŜɥɩɥɥɭ
	Ş���������ś ɪŜɥɩɮ �� ɨ ��� ɰɯ �	ř �Ş�����ś ɥŜɥɯɬɥɬ

��

ʴ � ʳŞ �����ſɬɥɥɥɥɥɥƀ
ʴ � ʳŞ �����ſɬɥɥɥɥɥɥƀ
ʴ ������Ŝ����ſ�����ſ�������ſ��ſ�Ɍ�ƀƀƀƀ

����ś
��ſ������� ʰ � Ɍ �ƀ

���������ś
��� ɨ� ������ ɪ� ���

ŞɬŜɨɪɨɥ ŞɥŜɭɮɫɭ ɥŜɥɥɥɫ ɥŜɭɮɫɮ ɬŜɥɯɭɥ

������������ś
�������� ���Ŝ ����� � ����� ��ſʴŶ�Ŷƀ

ſ���������ƀ ŞɥŜɥɥɥɬɨɪɥ ɥŜɥɥɥɫɫɮɪ ŞɨŜɨɫɮ ɥŜɩɬɨ
� ɥŜɥɥɥɩɪɬɰ ɥŜɥɥɥɫɫɮɪ ɥŜɬɩɮ ɥŜɬɰɯ

�������� �������� �����ś ɨ �� ɫɰɰɰɰɰɯ ������� �� �������
�������� �Ş�������ś ɬŜɬɭɫ�Şɥɯř �������� �Ş�������ś ŞɨŜɫɫɫ�Şɥɮ
	Ş���������ś ɥŜɩɮɯɩ �� ɨ ��� ɫɰɰɰɰɰɯ �	ř �Ş�����ś ɥŜɬɰɮɰ

���� ������ �������
ɬɮŜɫɪɫ ɨɫŜɩɩɰ ɨɥɥŜɭɥɮ



= β0 + β1 + ε

= [1 ] β = [β0 β1]

σ2 = ( − ) ( − )/( − 1)

σ2 = ( − ) ( − )/( − 1)

σ = ( − ) ( − )/( − 1)

ρ = σ /
√

σ2σ2

β̂1 = ρ
√

σ2/σ2

(β̂1) =
√

σ2(1− ρ2 )/( − 2)σ2

= ρ
√

( − 2)/(1− ρ2 ) − 2

�

ɤ ���� ���� ���� �� �� � ��������ř ��� �ʫʫ
�������������������������� ʳŞ ��������ſ�ř �ƀ Ƈ

� ʳŞ � Ş ����ſ�ƀ
� ʳŞ � Ş ����ſ�ƀ
� ʳŞ ������ſ�ƀ
���������ſ������ſ�ƀ ʰʰ �ƀ ɤ ��� ����� ��������
�ɩ� ʳŞ ���ſ � Ƌ � ƀ ŵ ſ � Ş ɨ ƀ ɤ Ɏ�����ɏ�ɋɩ
�ɩ� ʳŞ ���ſ � Ƌ � ƀ ŵ ſ � Ş ɨ ƀ ɤ Ɏ�����ɏ�ɋɩ
��� ʳŞ ���ſ � Ƌ � ƀ ŵ ſ � Ş ɨ ƀ ɤ Ɏ�����ɏ��
��� ʳŞ ��� ŵ ����ſ �ɩ� Ƌ �ɩ� ƀ ɤ Ɏ���ɏ��
� ʳŞ ��� Ƌ ����ſ �ɩ� ŵ �ɩ� ƀ
��Ŝ� ʳŞ ����ſ �ɩ� Ƌ ſ ɨ Ş ��� Ƌ ��� ƀ ŵ ſ�Şɩƀ ŵ �ɩ� ƀ
����� ʳŞ ��� Ƌ ����ſ ſ � Ş ɩ ƀ ŵ ſ ɨ Ş ��� Ƌ ��� ƀ ƀ
� ʳŞ ��ſ ���ſ�����ƀ ř � Ş ɩ ř �����Ŝ����ʰ	���� ƀƋɩ
������ſ����ſ ���� ʰ � ř ��Ŝ���� ʰ ��Ŝ� ř �Ŝ���� ʰ �����ř �Ŝ����� ʰ � ƀƀ

ƈ

ʴ ������Ŝ����ſ�����ſ��������������������������ſ�ř�ƀƀƀ
ɛ����
ƃɨƄ ɥŜɥɥɥɩɪɬɯɫɮɩ

ɛ��Ŝ����
ƃɨƄ ɥŜɥɥɥɫɫɮɪ

ɛ�Ŝ����
ƃɨƄ ɥŜɬɩɮɫɭɫɭ

ɛ�Ŝ�����
ƃɨƄ ɥŜɬɰɮɯɮɨ

���� ������ �������
ɥŜɪɯɩ ɨŜɯɫɰ ɪŜɥɫɩ



������ 80

�

σ2 = ˆ ( ) = ( − ) ( − )/( − 1)

σ2 = ˆ ( ) = ( − ) ( − )/( − 1)

σ = ˆ ( , ) = ( − ) ( − )/( − 1)

∑
=1 =

∑
=1 =

∑
=1

2 = σ2( − 1) + 2

∑
=1

2 = σ2( − 1) + 2

∑
=1 = σ ( − 1) +

ɤ������� ʳ��������ʴ
ɤ������� ʳ�������ʴ
ɤ������� ʳ�����ŵ����ŵ�������������ŵ��������ɏ�Ŝ���ʴ
����� ��������� �����śś����Ś ŵŵ ��� ����������� �Ş������ ���� �Ş���������
��� ����ſ��� ����ř ����ƋƋ ����ƀ Ƈ

���śś�������� ���ſ����ƃɨƄƀŚ ŵŵ ���� ���� ���� ��� ���� ���������
������ �ř �Ś ŵŵ �������� ������ �� ����� ��� �����
������ ���� ʰ ɥř ������ ʰ ɥř ���� ʰ ɥř ������ ʰ ɥř ����� ʰ ɥŚ
��� � ʰ ɥŚ

ŵŵ ������� � ��� �� ���������� ����������
�����ſ ��� ʴʴ � ʴʴ � ƀ Ƈ ŵŵ �������� ���� ����� ���� ����� � ��� �

���� ʫʰ �Ś
���� ʫʰ �Ś
����� ʫʰ ſ�Ƌ�ƀŚ
������ ʫʰ ſ�Ƌ�ƀŚ
������ ʫʰ ſ�Ƌ�ƀŚ
ʫʫ�Ś

ƈ

ŵŵ ������� ��� ��� �� ���������� ���������� ��
������ �ɩ� ʰ ſ������ Ş ����Ƌ����ŵ�ƀŵſ�ŞɨƀŚ ŵŵ �ɩ� ʰ Ɏ�����ɏ�ɋɩ
������ �ɩ� ʰ ſ������ Ş ����Ƌ����ŵ�ƀŵſ�ŞɨƀŚ ŵŵ �ɩ� ʰ Ɏ�����ɏ�ɋɩ
������ ��� ʰ ſ����� Ş ����Ƌ����ŵ�ƀŵſ�ŞɨƀŚ ŵŵ ��� ʰ Ɏ�����ɏƇ��ƈ
������ ��� ʰ ���ŵſ�ɩ�Ƌ�ɩ�ƀŚ ŵŵ ��� ʰ ���ſ�ř�ƀ

ŵŵ ��������� ����ř ��ſ����ƀř ��� �Ş������
������ ���� ʰ ��� Ƌ �ɩ� ŵ �ɩ�Ś
������ ������ ʰ ����ſ �ɩ� ŵ �ɩ� Ƌ ſ ɨ Ş ���Ƌ��� ƀ ŵ ſ�Şɩƀ ƀŚ
������ � ʰ ��� Ƌ ����ſ ſ�ŞɩƀŵſɨŞ���Ƌ���ƀ ƀŚ ŵŵ �Ş����������

��������ɏ� ����ſ�ŞɩƀŚ ŵŵ ��� �������ɐ� �Ş������������ �� ������� �Ş�����
������ ������ ʰ ɩŜɥƋ���ſ����������ſ����ř � ʴ ɥ ţ � ś ſɥŞ�ƀ ƀƀŚ



���śś���� ʳʳ ɑ������ �� ������������ ʰ ɑ ʳʳ � ʳʳ ���śś����Ś
���śś���� ʳʳ ɑ������ ���� Ş ���� ʰ ɑ ʳʳ ���� ʳʳ ���śś����Ś
���śś���� ʳʳ ɑ�������� ����� Ş ��ſ����ƀ ʰ ɑ ʳʳ ������ ʳʳ ���śś����Ś
���śś���� ʳʳ ɑ�������ɐ�Ş� ��������� ʰ ɑ ʳʳ � ʳʳ ���śś����Ś
���śś���� ʳʳ ɑ���Ş����� �Ş����� ʰ ɑ ʳʳ ������ ʳʳ ���śś����Ś
������ ɥŚ

ƈ

��ſƀ

= β + ε ×
∼ ( β,σ2)

β̂ = ( )−1

σ̂2 = ( − β̂) ( − β̂)/( − )

β̂ ˆ (β̂) = σ̂2( )−1

0 : β = 0 : β = 0

��ſƀ

ʴ � ʳŞ �����ſɨɥɥɥƀ
ʴ � ʳŞ ������ſ�����ſɬɥɥɥƀřɨɥɥɥřɬƀ
ʴ �������ſ��ſ�Ɍ�ƀƀ
ŜŜŜŜŜ

������������ś
�������� ���Ŝ ����� � ����� ��ſʴŶ�Ŷƀ

ſ���������ƀ ɥŜɥɨɥɰɪɫ ɥŜɥɪɨɬɰɮ ɥŜɪɫɭ ɥŜɮɩɰ
�ɨ ɥŜɥɩɭɪɫɥ ɥŜɥɪɨɯɯɭ ɥŜɯɩɭ ɥŜɫɥɰ
�ɩ ŞɥŜɥɩɬɪɪɰ ɥŜɥɪɨɮɯɰ ŞɥŜɮɰɮ ɥŜɫɩɭ
�ɪ ŞɥŜɥɪɭɭɥɮ ɥŜɥɪɨɮɪɰ ŞɨŜɨɬɪ ɥŜɩɫɰ
�ɫ ŞɥŜɥɥɩɬɫɰ ɥŜɥɪɨɫɭɮ ŞɥŜɥɯɨ ɥŜɰɪɬ
�ɬ ɥŜɥɬɥɥɭɫ ɥŜɥɪɨɭɭɬ ɨŜɬɯɨ ɥŜɨɨɫ

�������� �������� �����ś ɥŜɰɰɬɩ �� ɰɰɫ ������� �� �������
�������� �Ş�������ś ɥŜɥɥɫɰɭɭř �������� �Ş�������ś ŞɪŜɰɫɯ�Şɥɬ
	Ş���������ś ɥŜɰɰɩɨ �� ɬ ��� ɰɰɫ �	ř �Ş�����ś ɥŜɫɩɨɪ



= ′

β̂ = ( )−1

= ( ′)−1

= ( 2 )−1

= −2

= −1

ˆ (β̂) = σ̂2( ′ )−1

= σ̂2( −2 )

=
( − β̂) ( − β̂)

− ( −1( −1) )

�����

ɤ������� ɑ������ɭɨɬŜ�ɑ ŵŵ ��� ����� �� ������ �� ��� ��� ����
ŵŵ ������ ��� ������� ������ ���� ����

ɤ������� ʳ��������ʴ
ɤ������� ʳ�����ŵ����ʴ
ɤ������� ʳ�����ŵ���ʴ

����� ��������� �����Ś

��� ����ſ��� ����ř ����ƋƋ ����ƀ Ƈ
������ɭɨɬʳ������ʴ ����ſ����ƃɨƄƀŚ ŵŵ ���� � Ƌ ɨ ������ �
������ɭɨɬʳ������ʴ ����ſ����ƃɩƄƀŚ ŵŵ ���� � Ƌ � ������ �
��� � ʰ ����Ŝ�������ſƀŚ
��� � ʰ ����Ŝ�������ſƀŚ

�������� �ř �Ś
����Ŝ������������ſ�ƀŚ ŵŵ ���� ��� �������� ���� �����śś������ �������
����Ŝ������������ſ�ƀŚ ŵŵ ���� ��� �������� ���� �����śś������ �������


��������ʳ��������ʴ ���ſ�ř ������������ Ŷ ������������ƀŚ ŵŵ ������� ���
�������� �������� ʰ ���Ŝ�����ſ�ƀŚ ŵŵ ����� ������ ����� ��� ��������� ����
ŵŵ �������� ��ɋƇŞɨƈ
�������� ���ʰ ���Ŝ�������ſƀ Ƌ ���Ŝ��������������ſƀŜ����������ſƀŜ�������ſƀŚ
������ �������� ʰ ſ� Ş � Ƌ ��������ƀŜ�����������ſƀŵſ�Ş�ƀŚ ŵŵ ������� Ɏ�����ɋɩ
�������� ����������� ʰ �������� Ƌ ��� Ƌ ���Ŝ���������ſƀŚ ŵŵ ���ſɎ���Ƈ����ƈƀ

ŵŵ ���������� ��� ������� �� ������Ŝ
��	����� �����	��ſɯř ɥř ɑř ɑř ɑɎ�ɑř ɑƃɑř ɑƄɑƀŚ

ŵŵ ����� Ɏ���Ƈ����ƈ
���śś���� ʳʳ ɑŞŞŞŞŞ ���� ŞŞŞŞŞɎ�ɑ ʳʳ ��������Ŝ������ſ�����	��ƀ ʳʳ ���śś����Ś
ŵŵ ����� ��ſɎ���Ƈ����ƈƀ ŞŞ ��������� �� ���ſɎ���Ƈ����ƈƀ
���śś���� ʳʳ ɑŞŞŞŞŞ ��ſ����ƀ ŞŞŞŞŞɎ�ɑ

ʳʳ �����������Ŝ��������ſƀŜ�����ſƀŜ����ſƀŜ������ſ�����	��ƀ ʳʳ ���śś����Ś
������ ɥŚ

ƈ

= 1, 000, 000 = 6

��ſƀ
ʴ ������Ŝ����ſ� ʳŞ ����Ŝ�����ſɐ�Ŝ���ɐƀƀ

���� ������ �������
ɫŜɩɫɰ ɥŜɥɮɰ ɫŜɪɫɬ

ʴ ������Ŝ����ſ� ʳŞ ����Ŝ�����ſɐ�Ŝ���ɐƀƀ
���� ������ �������

ɭɩŜɥɨɪ ɥŜɭɬɯ ɭɩŜɪɨɫ
ʴ ������Ŝ����ſ�������ſ��ſ�Ɍ�ƀƀƀ

���� ������ �������
ɬŜɯɫɰ ɨŜɩɩɯ ɮŜɮɥɪ

������� ���� ��� ������ ������� �� ɩɪŜɯɥɩ
������� ���� ��� ����������� �� ɨŜɨɰɩɬɩ



�����

×
×

×

������������� ʳŞ ��������ſ�ř �ƀ Ƈ
� ʳŞ ����ſ�ƀ
� ʳŞ ����ſ�ƀ
� ʳŞ ����ſ�ƀ
���������ſ� ʰʰ ����ſ�ƀƀ

� ʳŞ ������ſ����ʰ�ř����ʰ�ƀ
���ſ� �� ɨś�ƀ Ƈ

���ſ� �� ɨś�ƀ Ƈ
�ƃ�ř�Ƅ ʳŞ �������ſ��ſ�ƃ�řƄɌ�ƃ�řƄƀƀɎɛ������������ƃɩřɫƄ ɤɤ ������ �Ş�����

ƈ
ƈ
������ſ�ƀ

ƈ



ʴ ������ſɐ�������������Ŝ�ɐƀ
ʴ � ʳŞ ������ſ�����ſɩɥɥƋɨɥɥƀřɩɥɥřɨɥɥƀ
ʴ � ʳŞ ������ſ�����ſɩɥɥƋɨɥɥƀřɩɥɥřɨɥɥƀ
ʴ ������Ŝ����ſ�� ʳŞ �������������ſ�ř�ƀƀ

���� ������ �������
ɨɩɫŜɰɫɮ ɥŜɬɮɪ ɨɪɨŜɮɯɨ

1000× 1000 = 100

����������� ʳŞ ��������ſ�ƀ Ƈ ɤɤ ����������� ���� ���
� ʳŞ ����ſ�ƀŚ � ʳŞ ����ſ�ƀŚ
�� ʳŞ ��������ſ�ƀ
� ʳŞ �����ſ�řɨř��ƀ
� ʳŞ ſ�Ş������ſ��ř�ř�ř�����ʰ	����ƀƀŵ������ſ�ř�ř�ř�����ʰ	����ƀŚ
������ ſ�ƀŚ

ƈ

������������ ʳŞ ��������ſ�ř �ƀ Ƈ
� ʳŞ ����ſ�ƀŚ � ʳŞ ����ſ�ƀŚ � ʳŞ ����ſ�ƀ
���������ſ� ʰʰ ����ſ�ƀƀ

� ʳŞ �����������ſ�ƀŚ
� ʳŞ �����������ſ�ƀŚ
� ʳŞ ����������ſ�ř�ƀŵ� ɤɤ � ʩƋʩ �ſ�ƀ
� ʳŞ � Ƌ ����ſſ�ŞɩƀŵſɨŞ�ɋɩƀƀ
� ʳŞ ɩƋ��ſ���ſ�ƀř�Şɩř�����Ŝ����ʰ	����ƀ
������ſ�ƀŚ

ƈ

ʴ ������ſɐ������������Ŝ�ɐƀ
ʴ � ʳŞ ������ſ�����ſɩɥɥƋɨɥɥƀřɩɥɥřɨɥɥƀ
ʴ � ʳŞ ������ſ�����ſɩɥɥƋɨɥɥƀřɩɥɥřɨɥɥƀ
ʴ ������Ŝ����ſ�� ʳŞ ������������ſ�ř�ƀƀ

���� ������ �������
ɥŜɥɭɨ ɥŜɥɥɫ ɥŜɥɭɫ

ʴ � ʳŞ ������ſ�����ſɨɥɥɥƋɨɥɥƀřɨɥɥɥřɨɥɥƀ
ʴ � ʳŞ ������ſ�����ſɨɥɥɥƋɨɥɥƀřɨɥɥɥřɨɥɥƀ
ʴ ������Ŝ����ſ�� ʳŞ ������������ſ�ř�ƀƀ

���� ������ �������
ɥŜɯɫɪ ɥŜɥɬɯ ɥŜɯɭɰ

������ɭɨɬŜ�

������ɭɨɬ ��������

=

= /
√

( − 2)/(1− 2)



������ɭɨɬ ��������

���� ������ɭɨɬśś������������ſ�����śś������ʳ�ř�����śś�������ř�����śś�������ʴĺ �ƀ
Ƈ

��� �� ʰ �������ſƀŚ
��� �� ʰ �������ſƀŚ
�Ŝ������ſ��ř��ƀŚ
���ſ��� �ʰɥŚ � ʳ ��Ś ʫʫ�ƀ Ƈ

���ſ��� �ʰɥŚ � ʳ ��Ś ʫʫ�ƀ Ƈ
�ſ�ř�ƀ ʰ ����ƃ�Ƅƃ�ƄŚ

ƈ
ƈ

ƈ

����� ����������� Ƈ
������ś

ŵŵ ŜŜŜŜ
������ ���� �����������ſ��������ĺ �ř ���� ������� ʰ ����ƀ Ƈ

�� ſ ������� ƀ Ƈ ŵŵ ����������� ���� ���
�������� ����� ʰ �Ŝ�������ſƀŜ����ſƀŚ ŵŵ ������� ����
�������� ����� ʰ �Ŝ�������ſƀŜ�����������ſƀŚ
�������� ��� ʰ ſ�����Ŝ�����ſƀŵ�Ŝ����ſƀ Ş �����Ŝ�����ſƀŜ������ſƀƀ

Ŝ����ſƀŜ�������ſƀŜ������ſƀŚ ŵŵ ������� �����
�Ŝ�������ſƀ Şʰ �����Ś ŵŵ ���� ���� ��� ��� ���� ����
��������������ſ�ř���ř�������ƀŚ ŵŵ ���� ���� ��� ��� ���� ��������

ƈ
���� Ƈ ŵŵ ����������� ���� ������

�������� ����� ʰ �Ŝ�������ſƀŜ����ſƀŚ
�������� ����� ʰ �Ŝ�������ſƀŜ�����������ſƀŚ
�������� ��� ʰ ſ�����Ŝ�����ſƀŵ�Ŝ����ſƀ Ş �����Ŝ�����ſƀŜ������ſƀƀ

Ŝ����ſƀŜ�������ſƀŜ������ſƀŚ
�Ŝ�������ſƀ Şʰ �����Ś
��������������ſ�ř���ř�������ƀŚ

ƈ
ƈ

ƈŚ

����� ����������� Ƈ
������ś

������ ���� ��������������ſ��������ĺ �ř ��������ĺ �ř ���� ������� ʰ ����ƀ Ƈ
��� �� ʰ �Ŝ����ſƀŚ
��� �� ʰ �Ŝ����ſƀŚ
��� �� ʰ �Ŝ����ſƀŚ
�� ſ ������� ʰʰ �����ƀ Ƈ ŵŵ �ƃ�řƄ Ƌʰ � ſ���������Ş����ƀ

���ſ��� �ʰɥŚ � ʳ ��Ś ʫʫ�ƀ Ƈ
���ſ��� �ʰɥŚ � ʳ ��Ś ʫʫ�ƀ Ƈ

�ſ�ř�ƀ Ƌʰ �ſ�ƀŚ ŵŵ �������� � ��� ���� ���
ƈ

ƈ
ƈ
���� Ƈ

���ſ��� �ʰɥŚ � ʳ ��Ś ʫʫ�ƀ Ƈ
���ſ��� �ʰɥŚ � ʳ ��Ś ʫʫ�ƀ Ƈ

�ſ�ř�ƀ Ƌʰ �ſ�ƀŚ ŵŵ �������� � ��� ���� ������
ƈ

ƈ
ƈ

ƈ
ŵŵ ŜŜŜ

ƈŚ

��� ����ſ��� ����ř ����ƋƋ ����ƀ Ƈ
�� ſ ���� Šʰ ɪ ƀ Ƈ

���śś���� ʳʳ ɑ����� ś ɑ ʳʳ ����ƃɥƄ ʳʳ ɑ ƃ�Ƅ ƃ�Ƅɑ ʳʳ ���śś����Ś
������ ŞɨŚ

ƈ

ŵŵ ���� ����� ����� �� ������ɭɨɬ �������
������ɭɨɬʳ������ʴ ��ſ����ƃɨƄƀŚ ŵŵ ���� � Ƌ � ������
������ɭɨɬʳ������ʴ ��ſ����ƃɩƄƀŚ ŵŵ ���� � Ƌ � ������
�� ſ ��Ŝ�������ſƀ Šʰ ��Ŝ�������ſƀ ƀ Ƈ

���śś���� ʳʳ ɑ�����ś ��� ������ �� ������� ��� ���������� ������� ɑ
ʳʳ ɑ��� ��� ��������ɑ ʳʳ ���śś����Ś

������ ŞɨŚ
ƈ

��� � ʰ ��Ŝ�������ſƀŚ
��� � ʰ ��Ŝ�������ſƀŚ
��� � ʰ ��Ŝ�������ſƀŚ



ŵŵ ���� ������ɭɨɬ ������� �� ����� �������
�������� ��ř ��Ś
��Ŝ������������ſ��ƀŚ
��Ŝ������������ſ��ƀŚ

ŵŵ ��������� � ��� � ������
�����������śś�����������ſ��ř����ƀŚ
�����������śś�����������ſ��ř����ƀŚ

�������� �� ʰ ſſ�� Ƌ ��Ŝ���������ſƀƀ ŵ �ƀŜ�����ſƀŚ
�� ʰ �� ŵ ſſɨ Ş ��Ƌ��ƀ ŵ ſ�ŞɩŜƀƀŜ����ſƀŚ ŵŵ ��������� �Ş����������

��������ɏ� ����ſ�ŞɨƀŚ
�������� ��ſ�ř�ƀŚ
���ſ��� �ʰɥŚ � ʳ �Ś ʫʫ�ƀ Ƈ

���ſ��� �ʰɥŚ � ʳ �Ś ʫʫ�ƀ Ƈ
������ � ʰ ��ſ�ř�ƀŚ
��ſ�ř�ƀ ʰ ɩŜɥƋ���ſ����ř � ʴ ɥ ţ ɥŞ� ś �ƀŚ

ƈ
ƈ
���śś���� ʳʳ �� ʳʳ ���śś����Ś
������ ɥŚ

ƈ

ɛ �ʫʫ Ş� Ɍŵ������� Ş� �������������� ��������������Ŝ���

ɛ ���� Ŝŵ�������������� �Ŝ��� �Ŝ��� ʴ �Ŝ���
���� ɩ�ɰŜɥɫɪ�

ɛ �ʫʫ Ş� Ş� Ɍŵ������� Ş� �������������� ��������������Ŝ���

ɛ ���� Ŝŵ�������������� �Ŝ��� �Ŝ��� ʴ �Ŝ���
���� ɥ�ɪɬŜɥɪɮ�

16× 16 = 256

×
∈ {0, 1}



=

1

1

1

1

��� ����ſ��� ����ř ����ƋƋ ����ƀ Ƈ
������ɭɨɬʳ������ʴ ��ſ����ƃɨƄƀŚ ŵŵ ���� � Ƌ � ������
������ � ʰ ����ſ����ƃɩƄƀŚ
��� � ʰ ��Ŝ�������ſƀŚ
��� � ʰ ��Ŝ�������ſƀŚ

�������� ��Ś
��Ŝ������������ſ��ƀŚ

��������ʳ��������ʴ ���ſ��ř ������������ƀŚ

ŵŵ ����� ��� ����� ɛ�ɛ ���
���śś���� ʳʳ ���Ŝ�������ſƀŜ�����ſɥřɥř�ř�ƀ ʳʳ ���śś����Ś

������ ɥŚ
ƈŚ



= =
= =

β̂ = −1

=
ˆ (β̂) = σ̂2( ′ )−1

=
( − β̂) ( − β̂)

− ( −1( −1) )

=
( − β̂) ( − β̂)

−

Ş�


